3.6 Parts list for model Morsg 6100

Pos. No.

Parts

Socle

Top plate, outside

Top frame

Side plate, outside

Door

Front frame

Rear plate, inside

Rear plate, outside

Glass

Intermediate frame

Brick, side, right

Brick, side, left

Brick, back

Top plate, inside

Air canal, rear

Screw M6x35 DIN 933

Stop bar

Cover

Screw M6x16 DIN 933

Lug

Washer @6 DIN 9021 fzb

Air canal, top

Air canal, front

Baffle plate, lower

Baffle plate, top

Handle

Hinge pin @6x40

Screw pinol msp ISO 4029-45h
Handle primary air controller
Primary air controller
Distance tube @12x1.5 L=8mm
Distance tube @8x1 L=10mm
Screw M6x20 DIN 933
Washer 6.5x16x1 DIN 522-A fzb
Screw Mg5x10 I1SO 7380 Buttonhead
Closure plate for Primary air control
Roundel

Ash pan

Cover

Radiant shielding, bottom
Radiant shielding, rear

Fitting plate for baffle
Tertiary box

Hinge fitting

Screw @5x60 DIN 660 KN KULLRIG NIT
Closure fitting

Lug for cover

Screw M6x25 dIN 933
Distance tube @10x1 L=10mm
Screw M6x50 DIN 931

SKU number
44610100
44610900
44610600
44610700
44610300
44610200
44610400
44610800
79610100
346110
79610200
79610300
79610400
44610500
44611200
743625
71611900
44141000
731616
44256800
791891
44611300
44611600
79610500
79610600
75610061
542056
73950500
71611261
71611100
71810300
71810200
74162000
736106
73851100
71610800
71611000
71610100
44812000
71610300
71610200
71610461
71610561
71810100
74701000
71610700
71813200
731625
541439
731650



3.6 Parts list for model Morsg 6100

Pos. No.
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86

Parts

Screw M6x12 DIN 933
Distance tube @10x1 L=35mm
Screw M6x55 DIN 933

Glass fitting

Screw M5x8 1SO 7380

Retaining Ring Washer 4mm DIN 6799

Screw 3.5x9.5 DIN 7981 fzb
Screw M6x8 DIN 933

Screw M6x40 DIN 933

Screw M6x10 DIN 965A

Screw M6x35 DIN 933

Screw M6x30 DIN 933

Tape for glass

Bottom plate

Pedestal

Distance tube @10x1 L=30

Vistop lock washer 6 mm

Flue collar

Fitting for wall

Bracket for wall fitting

Screw M6x16 Buttonhead ISO 7380
Screw M5x8 DIN 933

Screw Msx12 DIN 7991

Cotter pin @2x10 DIN 1481

Axle f. door

Flue collar

Spring 1.5X14x21 5 turns

Fitting w. thread for flue collar
Radiant shielding, Bottom for 6143
Bracket for optional outside air kit
Fitting w. thread for flue collar
Screw M6x35 DIN 7991

Radiant shielding, open base 6143
Screw M6x45 DIN 933

Nut 6mm kl.8 DINg34

Screw M6 x 16 DIN 913-45H

SKU number
731612
542641
731640
71814561
73850800
746006
791835
731608
731640
74361000
731635
731630
79074200
44611500
71611500
541440
746206
44141900
71612000
71612100
73861400
74150804
73856100
74201900
75610161
44611800
79048800
44256700
71612500
71613700
542630
74241900
71617000
731645
735006
73961700





